Polish Club Chap 1-2  1D Opening


Chapter 1-2  1D Opening
Aug. 6, 2022
(1) 11~17HCP, 4+card D (5+card D when 11 HCP)

(2) 18~21 HCP, 5+D & no 4 card M (long D or two suits 5+D & 4+C), unbalanced

(3) 5 card C & 4 card D: Open 1D when 11~14; Open 1C when 15~17
(4) 12~17 & 44 m (may 4144/1444, single M)
(5) 11~17 & 55m
Conventions: (1) Inverted minor (2) Support double/ redouble (3) XYZ (4) 4th suit game forcing
	1D
	1M
	FOR 1 round, 6+HCP, 4+M (a)44 H&S, bid 1H (b)55 H& S, bid 1S (c)5 card H & 4 card S, bid 1H.
When 4M & 5m & no GF power, please bid 1M first

	
	1N
	7-10 HCP, BAL

	
	2C
	FOR 1 round (forcing to at least 2N), (1) 5+card C, 10+HCP (2) 4+card C, 11+HCP.
If 14+HCP, 

	
	2D
	13+HCP, 4+D, GF. (4 card M is allowed.)

	
	2H
	Weak, 4-6 HCP, H+S, 55+. Then, P/2S/3M/4M=to play; 2N= ask short, reply 3C/3D=short in C/D.

	
	2S
	(1) 10~11 HCP, any one suit, 6+ cards with 2+honors.
(4 card D & 11-12 HCP, or 5+D &10~12, for D suit).
(2) Any one suit, AKQXXXX 7 cards without outside A or K. (Same we open 3S).

Then, bid 2N=ask. Reply 3N=any one solid 7 cards.

	
	2N
	11-12, BAL, INV, no 4 acrd M

	
	3-level 
	7~9 HCP, 7+card suit (or bid 3D for 5+D)

	
	3N 
	13~15 HCP, 3343/3334/2344/3244 (stopper in 2M)

	
	4C/4D 
	PRE

	
	4M 
	To play


	1D
	1M
	

	1S
	
	(to 1M=1H) NAT, 11-18, 4+card S. Then 4C=13-15, Splinter trump=S

	1N
	
	NAT, 11-14 BAL (may 5 card D), 2+card M. 
(to 1M=1S) When 1444 (11-14, single S), bid 1N.

	2C
	
	NAT, (1) 11-14, May 4+D & 5+C, or 5+D & 4+ C
(2) 15-18, must 5+ D & 4+ C (maybe 1444, single M)

	2D
	
	Normally, 6+card D, 11-15

	2M
	
	11-14, (1) 4 card M; (2) 3 card M, with one short

	2H
	
	(to 1M=1S) 16-21, 4+ H & 5+ D (reverse), F1

	2S
	
	(to 1M=1H) NAT, 19-21, GF, 5+card D & 4+card S

	2N
	
	Cannot be passed.

(1) 18-19, BAL, 5 card D, may have 3 card M

(2) 15-17, 6+D with 3 card M

	3C
	
	19-21, 5+card D & 4+card C, or 6+card D & 3 card C

	3D
	
	16-18, 6+ card D, at most 2 card M

	3H
	
	(to 1M=1S) 19-21, 5+card D & 4+card H

	3M
	
	INV, 4 card M, (1) 16-17, with 5 card D, BAL (2425)
(2) 13-14, with any short.

Then responder’s relay is to ask short for slam try: 

3S(to 1H)=ask, 
reply 3N/4C/4D=No shot/short C/short S 
(impossible short D)

3N(to 1S)=ask, 
reply 4C/4D/4H=No shot/short C/short H 
(impossible short D)

	3S(to 1H)
	
	(to 1H)15-17, 4 cards H, any one short. 

Then 3N=ask (slam interest), reply 4C/4D=short C/S

	3N/4C
	
	(to 1H) 18-21HCP, 4 cards H, short S/C (if void, then 15-18)

	3N(to 1S)
	
	(to 1S)15-17, 4 cards S, any one short. 

Then 4C=ask (slam interest), reply 4D/4H=short C/H

	4C/4H
	
	(to 1S) 18-21HCP, 4 cards H, short C/H (if void, then 15-18)


	1D
	1H
	

	2C
	2D/2H
	Simple raise, NF

	2H(to 2D)
/3H
	
	Should no such bid (If 1354, short S, should first rebid 2H, not 2C)


	1D
	1H
	

	2C
	2S
	4th suit, GF


	1D
	1S
	

	2C
	2H
	4th suit, GF


	1D
	1S
	

	2H
	2S
	5+S, F1

	
	3C
	4th, GF

	
	3D/3H
	GF

	
	3S
	6+S, GF

	
	3N
	To play

	
	2N
	TR 3C, may be weak, want to play 3C/3D/3H

	3C
	
	If opener Max, please do not bid 3C

	
	Pass/3D/3H
	To play 3C/3D/3H


XYZ (Same for open 1C/1D/1H) 
Used in these bidding sequences:  1C-1H-1S;  1C-1H-1N;  1C-1S-1N;  

1D-1H-1S;  1D-1H-1N;  1D-1S-1N;  1H-1S-1N
(more general than XY (2-way checkback Stayman) 

	1m
	1M
	

	1N
	2C
	XYZ, TR 2D 
(1) want to play 2D; (2) any hand to INV.

Opener cannot bid 2D if he is Max & does not want play 2D, such as 1C-1H-1S

	
	2D
	XYZ, GF, any hand. Subsequent bid is natural.

	
	2M/2H (to 1S)
	Sign off, to play/S-H=54+, NF , weak

	
	J 3-level new suit
	5+card M & 5+new suit, GF

	
	2S (to 1H)
	GF, NAT, 5+H & 4+S (Next bid 3S=6+H & 5+S)

	
	3S (to 1H)/4m’
	13~15HCP, Splinter, short S/m’, strongly fit m

	
	2N
	TR 3C, to play 3C or any 55 & INV

	
	3M
	Good 6+M, GF, try slam

	
	4M/3N
	To play


	1m
	1M
	

	1N
	2C
	XYZ

	2D
	P
	To play 2D

	
	2M
	5+M ,INV (If 5M & 5C, then can only bid 2M)

	
	2H(to M=S)
	5+S, 4+H, INV

	
	2S(to M=H)
	5+S, 6+H, INV

	
	2N
	4 cards M, BAL , INV

	
	3C/3D
	(to 1m=1C) 4 cards M, NAT, 5+ C/6+D, INV

	
	3C/3D
	(to 1m=1D) 4 cards M, NAT, 6+ C/4+D, INV

	
	3M
	6+cards M, INV (usually no such bid) 

	
	3H(to M=S)
	S&H 55, INV


	1m
	1M
	

	1N
	2D
	XYZ, GF, any hand. Subsequent bid is natural.

	2H(to 1S)
	
	4 cards H, may have 3 cards S, Min or Max.

	2M/3M
	
	3 cards M, Min/Max (for 1S, no 4 card H)

	2N
	
	No 3 cards M, No 4 cards M’, Min or Max (1) for 1C, then 5 cards C; (2) for 1D, then 5 cards D, or 44 m

	3C/3D
	
	Max, 5 cards C/D, no 3 cards M


	1m
	1H
	

	1S
	2C
	XYZ

	2D
	2S
	4+ cards H & 4 cards S , INV


	1H
	1S
	

	1N
	2C
	XYZ

	2D
	Pass
	To play

	
	2H/2S
	INV, 3+H/5 card S

	
	2N
	INV,11-12HCP, 4 cards S

	
	3C/3D
	INV,11-12HCP, 4 cards S, 6 cards C/D

	
	3S
	INV,11-12HCP, 6+ cards S


1D-1M-2M (Same for 1C-1M-2M and 1H-1S-2S)
	1D
	1H
	

	2H
	
	Similar to  1D  1S  2S  ?

	
	2N/3C/3D
	Need help in S/C/D, INV, 5+card H

	
	3H
	INV, 5+card H (may have strength in every suit)

	
	2S
	Ask, INV, 4 card H or 5+card H without short

	3C
	
	4+card H, no short

	3D/3H
	
	4+card H, short in C/S (when 2 answers, low to low, high to high)

	Others/3N
	
	4+card H, show control/ want to play 3N (3 card H)

	2N
	
	3 card H with short C or S

	
	3C
	Ask short. Answer 3D/3H=short in C/S (when 2 answers, low to low, high to high)

	
	3H/3N
	To play


	1D
	1S
	

	2S
	
	Similar to  1D  1H  2H  ?

	
	3C/3D/3H
	Need help in C/D/H, INV, 5+card S

	
	3S
	INV, 5+card S (may have strength in every suit)

	
	2N
	Ask, INV, 4 card S or 5+card S without short

	3D
	
	4+card S, no short

	3H/3S
	
	4+card S, short in C/H (when 2 answers, low to low, high to high)

	Others/3N
	
	4+card S, show control/ want to play 3N (3 card S)

	3C
	
	3 card S with short C or H

	
	3D
	Ask short. Answer 3H/3S=short in C/H (when 2 answers, low to low, high to high)

	
	3S/3N
	To play


1D-1M-2N (Same for 1C-1M-2N and 1H-1S-2N)
	1D
	1M
	

	2N
	
	(1) 18-19, BAL, must 5 card D, may have 4 card M

(2) 15-17, 6+D with 3 card M

	
	3D/3M
	To play if opener 15-17

	
	3H (new suit)
	(to 1M=1S), GF, exactly 5+card S & 4 card H

	
	3S (new suit)
	(to 1M=1H), GF, exactly 4 card H & 4 card S

	
	3N
	To play for both cases

	
	3C
	Ask, GF.

If M=H & 5 card H & 4 card S, please bid 3C

	3D
	
	15-17, 6+D with 3 card M

	3H
	
	18-19, BAL
(1) (to M=H) 3 card H (may have 4 cards S). Then responder 3S=exactly 44M.

(2) (to M=S) 4 card H (may have 3 cards S). Then responder 3S=5 cards S.

	3S
	
	18-19, BAL
(1) (to M=H) 4 cards S (no 3 cards H)
(2) (to M=S) 3 cards S (no 4 cards H)

	3N
	
	18-19, BAL, but no case for biding 3H/3S


	1D
	1N
	

	2N
	
	18-19, BAL, must 5 cards D


	1D
	3D
	Responder should not have 4+card M.

	3H/3S
	
	Short H/S


Response 2C/2D
	1D
	2C
	

	2D
	
	5+D, may be min or Max, F1. Then responder 3D=GF

	2H/2S
	
	GF, 3+C, 4 card or weaker M. If GF, 5+D, but only 3 card C, suggest to bid 2D, not 2H/2S

	2N
	
	NAT, INV, not support C, no 5+D

	3C
	
	11-13, 3+C, NF

	3D
	
	16+, at most one losers in D

	3H/3S
	
	14-16HCP, 4+C, short H/S. (If 17+HCP, please bid 2S first.) Then 4C=RKC.

	4C
	
	RKC, trump=C

	4H/4S
	
	13-14HCP, 6 cards D, 5 cards H/S (6511)


	1D
	2D
	

	2H/2S
	
	GF, 4 card or weaker M

	2N
	
	BAL, want to be NT player (stopper in other suits)

	3C
	
	NAT, 5+D & 4+C, or 4 cards D & 5 cards C. Then, next bid third suit (not short)

	3D
	
	Not want to be NT player, no short

	3H/3S/3N
	
	11+HCP, short H/S/C

	4D
	
	RKC for trump=D


	1D
	2D
	

	2H/2S
	2S/3H/3S(to 2S)
	NAT, 4 cards S/H/S. May have short. Then, next bid third suit (not short)

	
	Others
	NAT, second suit


Passed hands
	P
	1m
	

	?
	
	All biddings same as not passed (less HCP for 2 over 1)


	P
	1D
	

	2D
	
	10-11, 4+D

	Others 
	
	Same as not passed


Note: There is no 4th new suit forcing for a passed hand.
Opponent Overcalls (Rubens Transfer-type 1 and type 2)
	1D
	X 
	XX
	
	=bid 1H, 4+H, 7+HCP

	
	
	1H
	
	=bid 1S, 7+HCP, Transfer, 4+ S

	
	
	1S
	
	=bid 1N,7~10 HCP

	
	
	1N 
	
	=bid 2C, 10+HCP, Transfer, 5+C (If C suit with less HCP, then pass first)

	
	
	2C
	
	=bid 2D, GF

	
	
	2D
	
	7-9HCP, 4+D, raise (bid 3D is better)

	
	
	2H up
	
	Same as no X


	1D
	X 
	1H
	P
	

	1S
	
	
	
	11-14, exactly 3 card S

	2S
	
	
	
	11-14, exactly 4 card S (not reverse)

	Others
	
	
	
	Same as no X and responder 1S


	1D
	1H 
	X
	
	=bid 1S,7+HCP, Transfer, 4+card S

	
	
	1S
	
	1S=Takeout, no 4 card M, 7+HCP, C suit (not D suit)

	
	
	1N/2N 
	
	7~10HCP/INV, BAL, H stopper. Not transfer.

	
	
	2C
	
	11+HCP, C suit, F1. Same as o overcall.

	
	
	2D
	
	4 card D, NAT, 7~9 HCP

	
	
	2H
	
	(1) D suit, INV+ (2) GF, any shape

	
	
	Others 
	
	2S and 3C up, Same as no overcall


	1D
	1S 
	X
	
	Normal takeout, 7+HCP, guarantee 4+card H. (If C/D suit, then pass first)

	
	
	1N/2N
	
	7~10HCP/INV , BAL, S stopper

	
	
	2C
	
	11+HCP, C suit, F1. Same as o overcall.

	
	
	2D
	
	D suit, 4 card D, NAT, 7~9 HCP

	
	
	2H
	
	5+H, F1 (If NF, bid X first. Then 2H or 3H)

	
	
	2S
	
	(1) D suit, INV+ (2) GF, any shape

	
	
	Others 
	
	3C up, Same as no overcall


	1B
	1N(opp)
	X
	PEN

	
	
	New suit
	NF, NAT (can not PEN)


	1B
	P 
	1M
	1B/2Y/X
	

	X
	
	
	
	Exactly 3 card M (support X), Min or Max

	XX(to X)
	
	
	
	Exactly 3 card M (support XX), Min or Max

	2M
	
	
	
	4+card M


1D- 2

